
Maintenance Notes

for Long Handle Pump with Valve Combination 
Order No. 5.27010/5.27015/5.27016

Important! Equipment must not be operated without water.

$� 2SHQ�WKH�SXPS�F\OLQGHU�WR�JUHDVH�ZLWK�VSHFLDO�¿WWLQJ�JUHDVH�RQFH�SHU�VHDVRQ��
 During this process it is also possible to replace the sealing rings of the piston, the return spring and the 

rubber buffers. All bolts must be tight. All nuts and bolts are made of stainless steel. In order to avoid cold 
ZHOGLQJ��DSSO\�¿WWLQJ�OXEULFDQW�DQG�UHPRYH�DQ\�VDQG�RU�GLUW�EHIRUH�\RX�ORRVHQ�RU�WLJKWHQ�EROWV�

1. Loosen the pivot bolt on the pump swipe using an M13 spanner. 

2. Use an M17 spanner to loosen the hold-down bolt on the cylinder cover. Remove the cover.

3. Loosen the 4 bolts of the inner cylinder cover (with the return spring connected to it, pay attention to the 
marking).

4. Pull out the piston with the piston rod (fasten to swipe).

B Maintenance of the valve combination

��� &KHFN�WKH�ZDWHU�LQ�ÀRZ��SLSH�GLVFRQQHFWRU�DQG�QRQ�UHWXUQ�YDOYH��
 The minimum amount of water required is 45 l/min. If there is not enough water within the system, there will 

EH�UHYHUVH�ÀRZV�LQ�WKH�OLQH�PDNLQJ�LW�KDUG�WR�SXPS�

2. Clean the sieves in the pressure reduction valve and membrane valves if necessary.

��� &KHFN�DOO�VFUHZ�¿WWLQJV�IRU�OHDNDJHV�

4. Check pressure compensating tank for proper operation. The pressure in the rubber bladder must be 1.4 bar.

C Taking the equipment out of service during the period of frost (Drain all water conducting supply 
and drainage lines prior to the frost period).

1. Shut off the water supply to the concrete casing of the long handle pump, and open the drainage valve.
 The long handle pump with valve combination must not be operated without water.

2. Remove the wooden pump swipe. This will avoid operation without water as well as injuries caused by the 
pump swipe striking back. In addition, the wood is protected from wear and tear. 

 Opening the concrete casing of the pump

3. Remove the service lid. To do this, unscrew the two safety bolts using the M17 ratchet socket.   
Screw in the M12 eyebolts (included). Grip the eyebolts and carefully lift and remove the service lid.

��� /RRVHQLQJ�WKH�EROWV�RQ�WKH�ÀDQJH�SODWH�RI�WKH�SXPSV�DW�WKH�QRQ�UHWXUQ�YDOYHV��)LUVW�ORRVHQ�WKH�RXWOHW�YDOYH�
with the hose and the safety valve which connects to the distribution station, then loosen the inlet valve 
(spanner M46).

��� /RRVHQ�WKH�VFUHZ�¿WWLQJ�RI�WKH�LQOHW�KRVH�DW�WKH�SUHVVXUH�UHGXFHU�

��� 7DNH�RXW�WKH�YDOYH�FRPELQDWLRQ�WRJHWKHU�ZLWK�WKH�SUHVVXUH�FRPSHQVDWLQJ�WDQN��)LUVW�UHPRYH�WKH�YDOYH�SDUW��
Store this part protected from frost and re-assemble when the period of frost is over. Next remove the 
FRPSHQVDWLQJ�WDQN�DKHDG�

��� ,W�LV�LPSHUDWLYH�WKDW�WKH�VFUHZ�¿WWLQJV�RI�WKH�VSUD\LQJ�KHDG�SLSHOLQHV�WR�WKH�PDVWV�EH�ORRVHQHG�LQ�RUGHU�WR�
drain them. Usually, they are located inside the concrete casing of the long handle pump. 

D Check that all screws and bolts are tight and re-tighten if necessary, especially the screws and bolts of 
moving parts. Pay attention to the general maintenance notes. If the grip bar of the pump is loose, tighten 
the 6 M12 safety nuts at the underside of the lid inside the concrete casing.

RICHTER SPIELGERÄTE GMBH · D-83112 FRASDORF · PHONE +49-8052/17980 · FAX 4180
C

O
PY

R
IG

H
T 

©
 R

IC
H

TE
R

 S
PI

EL
G

ER
Ä

TE
 G

M
B

H

En-EN    22.09.2014



RICHTER SPIELGERÄTE GMBH · D-83112 FRASDORF · PHONE +49-8052/17980 · FAX 4180
C

O
PY

R
IG

H
T 

©
 R

IC
H

TE
R

 S
PI

EL
G

ER
Ä

TE
 G

M
B

H

Lo
ng

 H
an

dl
e 

Pu
m

p 
fo

r F
or

es
t F

ou
nt

ai
n

D
is

as
se

m
bl

in
g 

fr
os

t-s
en

si
tiv

e 
pa

rt
s

D
ra

in
in

g 
th

e 
pi

pe
lin

es
In

 th
is

 c
as

e 
w

ith
 a

 d
is

tr
ib

ut
io

n 
st

at
io

n 
w

ith
in

 th
e 

co
nc

re
te

 c
as

in
g 

of
 th

e 
pu

m
p

 
W

he
n 

de
co

m
m

is
si

on
in

g,
 lo

os
en

 h
er

e,
 a

s 
w

el
l a

s 
th

e 
 

in
le

t p
ar

t w
ith

 th
e 

va
lv

e 
co

m
bi

na
tio

n 
ne

xt
 to

 it
.

In
 th

e 
se

co
nd

 s
te

p,
 lo

os
en

 th
e 

va
lv

e 

co
m

bi
na

tio
n 

an
d 

re
m

ov
e 

– 
th

e 
in

le
t 

FR
QQ

HF
WR
U�¿

UV
W�

pi
pe

lin
es

 to
 th

e 
m

as
ts

(ri
gh

t-h
an

d 
si

de
)

Connection from the pump  

(to distribution station)

pi
pe

lin
e 

to
 m

as
t

(le
ft-

ha
nd

 s
id

e)

pi
pe

lin
e 

to
 m

as
t

(le
ft-

ha
nd

 s
id

e)

Fo
r d

ra
in

ag
e 

lo
os

en
 s

cr
ew

 
¿W
WLQ

JV
�K
HU
H�
�D
QG

�WX
UQ
�WK

H�
ha

nd
le

 o
f t

he
 d

is
tr

ib
ut

io
n 

st
at

io
n 

to
 th

e 
m

id
dl

e 
po

si
tio

n.

En-EN     22.09.2014



Long Handle Pump for Forest Fountain

Service lid of the pump concrete casing with M10 hexagonal bolts for fastening and M12 eyebolts for lifting 
the lid.

En-EN    22.09.2014

RICHTER SPIELGERÄTE GMBH · D-83112 FRASDORF · PHONE +49-8052/17980 · FAX 4180
C

O
PY

R
IG

H
T 

©
 R

IC
H

TE
R

 S
PI

EL
G

ER
Ä

TE
 G

M
B

H


